PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with FORD Motor Co of Aust Ltd or any of its related companies’

To Suit F100/ F150 / BRONCO
V8 PETROL (with plastic inner guard)

2 X M6 Weldbolts

1 X M8 Bolt Short

1 X M8 Nut

2 X J Bolts

1 X Universal Top Mount

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX

N NOT SUTTBLE
N\ FORSELFFIT

. > ) NOTSUTABLE
g fOR
—— SEVERE SERVCE

W FITTING INSTRUCTIONS
2 X M6 Nuts

The cradle fits passenger side rear.

With plastic mud guard it looks flimsy however, it is strong. The
battery sits slightly on an angle, this is correct. Fitting is not simple as
body washers are required.

| Ensure, Before closing the bonnet that all items fitted
have adequate clearance

Nov 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BTF100



